Lesson 8 - 3.3 converse of parallel ines COMPLETE- blanks filled.notebookOctober 27, 2017

Homework: Pages: 165 - 167; Problems: 3-8, 10-15, 17, 23, 28 (15 Problems).
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IDENTIFYING PARALLEL LINES Is there enough information to prove m || n?
If so, state the postulate or theorem you would use.
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17. MULTI-STEP PROBLEM Complete the steps below to A A
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determine whether DB and HF are parallel. - ;,-": FF
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b. Describe the relationship between £ DCG and

“OM g ame -Side - 1nlenar X's.

c. Are DB and AF parallel? Explain your reasoning.
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23. % MULTIPLE CHOICE Use the diagram at the right.
You know that £1 = £4. What can you conclude?
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28. CHALLENGE Use the diagram.
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